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Note : Attempt Five qﬁestiﬁﬂs 'in all, selectiﬁg at least one
qﬁestion from. each Unit. All questions carry equal
~ Unitl

1.%.(a) 'h\‘?'\fhat is machine learning ? Discuss the history of

| 1__lmac_hine learning. . . % -

(b) .What are the three stages of building a model in
.machine learning ? - ' 7
2. (a) What are thé applications of su_pérvised machine
. ’.-_learning in modern ,businesseé Leigiirney- a1y 7%
(b) Discuss the Data set which are useful for machine = -
learning élgorithm. | , | 7%

UnitII.

3. (a) There are three cdins._ One is a two héaded coin
(havih_g head on both faces), another. is a biased %
*coin that comes up heads 75% of the tme and third
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is an unbiased coin. One of the three coins is

chosen at random and tossed, it shows heads. What

~ 1s the probabi_lity that it was the two headed coin ?

(b)

4. (a)
(b)
5. (a)
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%

Five defectve bulbs are accidentaliy mixed with .
twenty good ones. It is not possible to just look at
a bulb and tell whether or not it is défcctve. Find

-the probability distribution of the number of defectve

bulbs, if four bulbs are drawn at random from this
lot. = ' . | 7%

Assume that on the average one telephone number

. out of fifteen called between 2 PM and 3 P.M on

week days is busy. What is the probability that if 6
randomly selected telephone numbers are called : 7%

(i) not more than three,

(i) at least three of them will be busy ?

If the variance: of thé Poisson distribution is 2, find

the probability for = 1, 2, 3, 4 form the recurrence

relation of the Poisson distribution. | 772
| -~ Unit IIT

Use Gauss Jordan method to find the inverse. of the

-. 1 3 3 - .
matrix |1 4 3|. Y%
1: 83024



(b)

()

Investigate for consistency of the following equation

and hence find the solution ux — 2y + .6z = 8,

x+y-3z=-1, ISx.'—-3y+9'é=21.

Check whether  the vectors {(1, -2, 5,' -3),
0, 7, -9, 2), (0, 0, 1,°0), (0, 0, 0, 1)} are LI or
LD .5

Find the eigen value and eigen 've'ct_or' of. the-given

£ AN e | -
matrix : [ 2 1 -6/|. 7Y%
-1 =2 0 '

UnitIV

Which of the following matrix is diagonalizable

oveleil. why 7" - - 7 T
e

(i) 052 =1

A0SR0 1|
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0+% 03

(3-27/149L-44226 e R 1 1



- e - | chatod ndai
. (b) Find an LU decomposition of |=6 0 -16].

T4

8. Find " -a singular  value- decomposition = for <
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